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(Adapted from Inequality: What Everyone Needs to Know®, by James K. Galbraith, Oxford University
Press, 2016, pp.64-66)

*1inequality &5 *6 Lorenz curve H— L 1 YH#R
*2gurveys ZReTrHE *Tunderlying EHEE5
*3census EFHE "8 quantiles 7%

*4 Gini coefficient < —{&¥ *9 distribution FTR2#H

*5 geometric representation B{A[EAIFE “0gparse EIXSA
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@ Tests are about to begin.
(® It satisfies the requirements for an application.
© I came across an interesting problem while studying English.

@ Checks should be done carefully.
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The Gini coefficient is defined as [ ]
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